k0399 e

LIAL QUM E 23t

=5 4Y/HIE o[0ix|

HH.

LIAF QIME = &4 E[RFHLE DF2 E|A7-LE 2FEl
LIAF 22 CHAl AR SHAHLE 2|8 7tS5HA 7.
ek ARl & &4 2 FLCh.

LIAF QIME = CHESE RHEIAM Q| AFE 2|11
4324 U A= MEE.

MeELCH 2 LIAIE AL SHH 5 7471 of i |
JHel #= Elo| MSE.

518 Mkt

LIAE LIALS| BRH= LIAF HEO|
CHSHAM = 6H, LEAF 2 E0 S A= 6g 2
S22 M8#. LtHX| 27| £0,25 mm.

7|&0f 28t T2 LIAI QIME AHE MBEAME
Senk-g
XFX.
[— _
- ZHHStD AlSEE X2
-CIMEE A e TS0z Qs FIESIX| T E Eloz TXE
%2 & 0l9lof= ofiH3t ATM BT QTR 98
S0 M.
1) &3 7=
co
1
D
E
-~
D1
D2
ES Q9

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



)
LIAL IME ZH3HE
EZS 29
LIAFIME Z3t 3 =B &
FEHS =A A D1 D2 L E2g EF| LEAL ZAX  AMAH EZZo] F=EHE
SrLEAF  LEAF Zo| M| FiREIM3I @ EZ LA ZIol 23 AA Mx| &
+0,25 Mx| M| (%]
K0399.04 AE M4 VE] 8 69 8,3 M8 9,5 55 4 K0399.804
K0399.05 A& M5 M10x1,25 10 8,8 10,3 M10x1,25 125 7,5 48  K0399.805
K0399.06 AE M6 M12x1,25 12 10,8 12,3 M12x1,25 145 95 48  K0399.806
K0399.08 AE VE] M14x1,5 14 12,8 14,3 M14x1,5 16,5 115 48  K0399.808
K0399.08X1 A& M8x1  M14x1,5 14 12,8 14,3 M14x1,5 165 115 48  K0399.808
K0399.10 AE M10 M16x1,5 16 14,8 16,3 M16x1,5 185 135 48  K0399.810
K0399.10X125 AEl M10x1,25 M16x1,5 16 14,8 16,3 M16x1,5 185 135 48  K0399.810
K0399.12 A& M12 M18x1,5 18 16,8 18,3 M18x1,5 20,5 155 4,8  K0399.812
K0399.12X125 AE M12x1,25 M18x1,5 18 16,8 18,3 M18x1,5 20,5 155 4,8  K0399.812
K0399.14 AR M14 M20x1,5 20 18,8 20,3 M20x1,5 225 17,5 48  K0399.814
K0399.14X15 A& M14x1,5 M20x1,5 20 18,8 20,3 M20x1,5 225 17,5 4,8  K0399.814
K0399.16 AE M16 M22x1,5 22 20,7 22,3 M22x1,5 245 17,8 6,4  K0399.816
K0399.16X15 AR M16x1,5 M22x1,5 22 20,7 22,3 M22x1,5 245 17,8 6,4  K0399.816
K0399.18X15 AE M18x1,5 M24x1,5 24 225 24,3 M24x1,5 26,5 198 64  K0399.818
K0399.20 AE M20 M30x2 30 28 30,3 M30x2 345 258 64  K0399.820
K0399.20X15 AR M20x1,5 M30x2 30 28 30,3 M30x2 345 258 64  K0399.820
K0399.22X15 A& M22x1,5  M32x2 32 30 32,3 M32x2 36,5 27,8 64  K0399.822
K0399.24 AE M24 M33x2 33 31 33,3 M33x2 375 288 64  K0399.824
K0399.24X2 A& M24x2 ~ M33x2 33 31 33,3 M33x2 375 288 64  K0399.824
K0399.104 AHQIBA AE M4 VE] 8 69 8,3 VE] 9,5 55 4 K0399.804
K0399.105 AHQIBA AE M5 M10x1,25 10 88 10,3 M10x1,25 125 75 4,8  K0399.805
K0399.106 AHQIBA AE M6 M12x1,25 12 10,8 12,3 M12x1,25 145 95 4,8  K0399.806
K0399.108 AHQIFA AE M8 M14x1,5 14 12,8 14,3 M14x1,5 165 11,5 48  K0399.808
K0399.108X1  AEIQIEA AR M8x1  M14x1,5 14 12,8 14,3 M14x1,5 16,5 115 48  K0399.808
K0399.110 AHQIFA AR M10 M16x1,5 16 14,8 16,3 M16x1,5 185 135 48  K0399.810
K0399.110X125 AEIQIEA AR M10x1,25 M16x1,5 16 148 16,3 M16x1,5 185 135 48  K0399.810
K0399.112 AHQIFA AR M12 M18x1,5 18 16,8 18,3 M18x1,5 20,5 155 4,8  K0399.812
K0399.112X125 AEHIQIEA AR M12x1,25 M18x1,5 18 168 18,3 M18x1,5 20,5 155 4,8  K0399.812
K0399.114 AHQIBA AR M14 M20x1,5 20 18,8 20,3 M20x1,5 225 17,5 48  K0399.814
K0399.114X15 AEIQIEA AEl  M14x1,5 M20x1,5 20 188 20,3 M20x1,5 225 175 48  K0399.814
K0399.116 AHQIHA AR M16 M22x1,5 22 20,7 22,3 M22x1,5 24,5 17,8 64  K0399.816
K0399.116X15 AHIQIEA AR M16x1,5 M22x1,5 22 207 22,3 M22x1,5 24,5 17,8 64  K0399.816
K0399.118X15 AEIQIHA ARl M18x1,5 M24x1,5 24 225 24,3 M24x1,5 26,5 198 64  K0399.818
K0399.120 AHQIFA AR M20 M30x2 30 28 30,3 M30x2 345 258 64  K0399.820
K0399.120X15 AEIQlEla ARl M20x1,5 M30x2 30 28 30,3 M30x2 345 258 64  K0399.820
K0399.122X15 AEIQIBIA AR M22x1,5 M32x2 32 30 32,3 M32x2 365 27,8 64  K0399.822
K0399.124 AHQIFA AR M24 M33x2 33 31 33,3 M33x2 375 288 64  K0399.824
K0399.124X2  AHIQIEIA AR M24x2  M33x2 33 31 33,3 M33x2 375 288 64  K0399.824

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



